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3.1 ����	
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������������������������� ก��"#ก$�

1.50 75 80 85 90 95 95.92 5 0.0750

3.2  ���&���ก"#ก$�'	ก��	������

�(����
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1.50 7 9 11 13 15 20 5 0.0750

5 ����������	��'���$���	����	�����5)��
#�9'
95 
%�$9�� �������(	#'��=������
�	�	(	#'#���	�	��5!����	$����ก�����
�	
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4 10 15 20 25 30 125.86 5 0.2000

6 ����������	��'��� ��=��	����	�����5)��
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���(���������(	#'��=�������	�	(	#' 
#���	�	��5!����	$��/��=���ก�'���!����	

4 10 15 20 25 30 31.0344 5 0.2000
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7 ���������%��	��'(	ก	�)��@����������=�
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4 60 70 80 90 100 1.7241 1 0.0400

8 ������
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� 6A	9A	��� !8ก	�4Bก:	 2552

30 1 2 3 4 5 4.4000 4.4000 1.3200
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9 �������	
9B�9��������ก4Bก:	$��
� ��	ก�  (���	���ก������ 8)

9.1 ��������	
9B�9��������ก4Bก:	 2 65 70 75 80 85 85.04 5 0.1000

9.2 ��������	
9B�9���$����	
%	� ก��� 2 65 70 75 80 85 92.19 5 0.1000
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9.2 ��������	
9B�9���$����	
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2 65 70 75 80 85 92.19 5 0.1000

9.3 ��������	
9B�9���$����	
%	� ก���
� ��	ก��	������� �

2 65 70 75 80 85 85.19 5 0.1000

9.4 ��������	
9B�9���#���)�	)$��
���	)������6�ก��
ก	�!����	�6�

2 65 70 75 80 85 88.41 5 0.1000
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2 1 2 3 4 5 5 5 0.1000
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2 1 2 3 4 5 5 5 0.1000
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2 70 75 80 85 90 100 5 0.1000
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2 70 75 80 85 90 92.23 5 0.1000
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2 1 2 3 4 5 5 5 0.1000
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14 �������	
��	
������ก	�ก�	ก���7$�
���5ก	�)��������6�ก��
ก	�!����	�6�
 (���	���ก������  5)

14.1 ���������ก	����!��( 

�6�ก��
ก	�#	
$%�

1 75 80 85 90 95 100 5 0.0500

14.2 ����������6�ก��
ก	�)��
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!��( 


1 60 65 70 75 80 90.91 5 0.0500
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$��ก	�)�	� ��	� �4'�!�$����H�3��
)��
��������ก��9��3ก'�����6�

1 0 1 2 3 4 38 5 0.0500
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1 0 - 1 - 2 5 5 0.0500
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(���	���ก������ 5)

15.1 �������	
��	
������ก	����)�	
�	��	�!����	!8

1 1 2 3 4 5 5 5 0.0500

15.2 ก	��	��	�A	��ก	�@���	�)�	���
��6I'#!8ก	�4Bก:	 2551
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�	��	����
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��	)��ก�	���

1 1 - - - 5 5 5 0.0500
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1 65 70 75 80 85 95.59 5 0.0500

15.3 �������	
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1 1 - - - 5 5 5 0.0500
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��	
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%�ก	�!&'��#'�	(ก	�!����	!8��!��
	6
 9.4.2552

1 1 2 3 4 5 5 5 0.0500
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'�#�
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1 1 2 3 4 5 5 5 0.0500

16 �������	
��	
������ก	�9�H�	��	����7�
�	ก�

1 1 2 3 4 5 5 5 0.0500

17 �������	
��	
������ก	���	
�'��	�#	

����#��ก	�9�H�	� 6A	9ก	���'�	�
���ก	�A	���N  (���	���ก������ 15)

15 1 2 3 4 5 4.8360 4.8360 0.7254

100 4.6118
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